ST
PNEUMATIC ACTUATORS

Py

Valbla ST R R A ISR WA/ PRI e ek MEE0-90° F10-180° XFHT s = ERT Tldfeish, Bap XA s
%, Velolar wAE 5, RAMSHOE FIik i iR 7 P RE AR NMERSm - EkE, SR SARE . RENIMEAGSIETAL,

(8 ValbiatiiTRELEIE AT /R RN R AR AR IR, FFEIBE TARSOAE, T LAEE BN DA R ( NESERRIEEISTIL) | R0
MIEFrmizR/ERS, VALBIA BEERIE R BNV ERZRE L RSAIIWRS R FHefE e, W

SRR, PRECFER, Efigs, NeFeR EsiT I,

Valbia =AU R =RSaHe T
<8277, 48, hEHAEO" -90° ;

- 835, 4R, hEkME 0° -180° ;

« BAZRFI, ER, BEkEfHE 0 -90°

BT UL AN BT BERIRN ISR, Valbiaid A ERIIRSS o

ZI= GENERAL SPECIFICATIONS

BV INl={[D]

6

Valbia manufactures rack and pinion pneumatic actuators, available in spring return or double acting version, with 0°-90° standard rotation or
0°-180°. This type of actuator is mainly used in industrial processes, to automate interception and adjustment devices.

Using carefully selected materials, Valbia offers a product with a unique patented design, which is able to guarantee high quality standard,
performance and strong reliability throughout its useful life.

The possibility to use various types of construction materials and combinations, makes Valbia actuators versatile and suitable to different
applications and operating

environments; the certifications, achieved by the products, allow the usage in all the major industrial sectors (from food & beverage to the O&G
market), both in European and International contest.

Valbia is able to propose the most suitable solution according to the different requirements of use and to provide also a wide range of accessories
such as solenoid valves, limit switches, positioners, emergency gear operators and levers for manual intervention.

Three series of pneumatic actuators are realized:

» the Series 82, aluminum with 0°-90° rotation;

» the Series 83, aluminum with 0°-180° rotation;

» the Series 84, stainless steel with 0°-90° rotation.

In addition to the standard versions, Valbia offers a wide range of special versions designed to provide specific solutions for any need.




ST
PNEUMATIC ACTUATORS

82&FISENITEE — SERIES 82 PNEUMATIC ACTUATORS

8277, IEHROLIR, HEEREIE SR, G161 ESOHIERE, FEiemE0® -90° , BEM(SR) FIXUER (DA) FJKE.

The series 82, with an extruded aluminum body, is manufactured in 15 models to guarantee a wide range of choice according to the
requested torque; it allows a 0°-90° rotation and it is available in the spring return (SR) or double acting (DA) versions.

83&FISEN1TEE — SERIES 83 PNEUMATIC ACTUATORS

83R7|, EHEILA, RIEAEHIESER, GOMEEHILIGEEE, EXFA (DA) ik, @I min=ge I e, ek
0-180°

Available only in the double acting version, the series 83 is manufactured in 9 models according to the different torque output
required. These actuators can provide a 0°-180° rotation with the possibility to regulate the run of the actuator by using the cam
adjustment but also with the screws mounted on the end caps.

84Z5IS 145728 — SERIES 84 PNEUMATIC ACTUATORS

B4R SB2RIIRTMERARLASS, EMFRAIHER— M, S45FINERIIMERNG, WIRANBRNERIE,
HASMHIEATIL.

The series 84 presents the same compact design and the same technical features of the series 82, with the exception of construction
material; the series 84 of Valbia is, in fact, manufactured using body, and caps and pinion in stainless steel and it is available in 5 models.

valsia




SEIITER
PNEUMATIC ACTUATORS
_________________________________________________________________________________________________________|

Bl SR $EUNI 60604RE: — |
- WERMAPATAELALEE, fREREERTIA 45-50 (micron).
- REIAINTEE R, mEE, ShiEinit., |
- WNPMEFRRE, PRI R FBYEIREP. T F E Dhiibee
- AEEINTEERS,
-RER, &5,
E= BODY MANUFACTURED FROM EXTRUDED ALUMINIUM UNI 6060:
— Hard-coat anodized as standard finish 45-50 (micron).
— Good wear resistance.
— High corrosion resistance.
— Special finishes nickel-plating or P.T.F.E coated for corrosive environments
upon request.
— Bore finished to high standard to ensure low friction and long life.

Bl s
- WA RIS BEER LA R,
- BRI R - |
- AESNEZESEDIEE.
-KzaEe, TR,
- HERIMNDASRES, EXFERIMERE.
EfE CONCENTRING SPRING SETS
— Standard coating painted.
— High resistance and reliability.
— Spring sets to suit different air pressure/torque requirements.
— Long securing screws to allow safe dismantling for maintenance.
— Same body dimensions for DA/SR versions.

B EiEs
- AERNREEN KA.
- AP, TFAT R AR, P.T.F E BaEatie ]
Z= DIE CAST ALUMINIUM END CAPS:
— Standard polyester powder coated
— Special finishes nickel-plating or P.T.F.E coated for corrosive environments
upon request.

BRER:
- PRAER TR,

R
Ef= ASSEMBLING SCREWS:
— Stainless steel as standard.
=2
B spapEs
- TREBER: A& NAMURKRE

Valbia a7 R SR ERIEFIEEAT, RO AIET R 5%

N - EDBER MRIZMEAE, EOETETREASZENDZN. 1ZE

S DR, RGN T TS RAETRARIAEE, TSRS, (B
E= EXTERNAL CONNECTION: WEK.

—Top of pinion according to Namur norm.

— Solenoid valve connection according to Namur norm.

— Bottom of pinion according to ISO 5211-DIN 3337.
B 2rsy SRS

- ATIERES: 8 bar, R Ewiang

- TIFGE: ANTI-BLOWOUT SYSTEM

TREE(-20° C; +85° C), il (-20° C; +150° C), {kid (-40° C; +85° C).
-BiBE, &5.
-100% Wit .
EfE  NOMINAL VALUES:
— Pressure rating max 8 bar.
— Working temperature:
standard (-20°C; +85°C), high (-20°C; +150°C), low (-40°C; +g5°C),
— Lubrification guaranteed for the entire actuator lifetime.
—100% fully tested on manufacture.

B R4 T AR ZE
Piston provided with
anti-blowout flat key.




ST
PNEUMATIC ACTUATORS

L Ry
- IR RS, LARE .
- BpIE RS DT RN MR
- FaltEatigit . .
== PINION MADE IN STEEL:
— Nickel-plated against internal and external corrosion for standard version.
— Stainless steel for corrosive environments upon request.
— Anti-blowout design.

-l DEeTTiERIAE. 0°-90°

- T,

- BT HAICANME £ 50

CAM FOR LIMIT POSITION ADJUSTMENT 0°-90°
- Stainless steel.

- Adjustment for open and close position + 5°.

El 0° -90 imEEe
EE

i

- T4M0-90°
ADJUSTMENT SCREWS

- Stainless steel.

Bl POMIEGEES M
- BERTEAR K o
- BiEE, ER, .
- K&,
EJ= PISTON GUIDES IN POM:
- Large contact area.
— Low friction for self lubricating material.
— Long life.

il ESSRIEE:
- AKIRER P TR R
E= PISTONS MADE FROM DIE CAST ALUMINIUM:

— Chemical nickel-plating upon request.

s ( :
- tREREME: NBR (THRR) .
PATENTED IrEEEME: M .
- SIRFELIME: Viton (FZR) .
The pneumatic actuator has a patented solution for the cam and the - (BRZEE: silicon. (FEEE)
double adjustment stop bolts chamber. Such area is separated from EE SEALS:
the pistons chamber, and it is not subject to pressure containing, = —Standérd version: NBR

contrary to our competitors’ products. This solution reduces the
eventual leaking points and it enables better performances and
long-term reliability of our actuators.

— High temperature version: Viton.
— Low temperature version: silicone.

B wsgiEstigt

— i emiiiriey
REIZRZE i
MOUNTING VARIATIONS s
TRMNEERT, BRKES.

X - Closed ; EfE TWIN RACK AND PINION DESIGN:
. = - — Constant torque output.

— Compact design.

— Balanced internal forces.

— Robust design to ensure long life.

IR HEESE S - Clockwise Rotation

View from the top of the pinion

ValiBia




82FFIAITERERM T
ACTUATOR PARTS SERIES 82

3284 MOD. 32

Fs. =g Lp sy RELFE =
ITEM DESCRIPTION MATERIAL TREATMENT -
1 &K - Body JE5548- Extruded aluminium IHiR &+~ Hard anodized 1
2 FsR i 5% - Anti-blowout pinion i¥ - Steel 148 - Nickel plated 1
-3 O~ O-ring NBR 1
< 4 OBl - O-ring NBR 1
-5 fRE¥A- Spacer ring POM 1

6 -£1£ - Snap ring M - Steel 42 - Nickel plated 1
7 JEIE - Piston JE$51a- Die cast aluminium ?
-8 Of?E- O-ring NBR ?
9 FEERIZR - Stop bolt TEEIM- Stainless steel 2
- 10 O/~ O-ring NBR 2
11 B~ Washer T~ Stainless steel 2
12 FIELARMSISIRA - Stop bolt retaining nut TEN- Stainless steel 2
13 Frimas- Left end cap JE5540- Die cast aluminium &4 - Painted 1
14 Aifz - Right end cap JE4518- Die cast aluminium & - Painted 1
15 iR EE- End cap seats NBR 2
16 EEI24T- End cap fixing screw TGN - Stainless steel 8

17 {7 BHEREE- Position indicator

PIBMEIG IR TPE
Thermoplastic rubber TPE

N

- SIRER(E - Parts subject to wear

BV INl={[D]

10




82RFIHATEREM
ACTUATOR PARTS SERIES 82

MB2EE2308Y
MOD. FROM 52 TO 230

(BAIID

{UERF2308Y
Only for mod. 230

{R14084-230RI L2 2 1y
Only for mod. 140-230

F5. BHEFR 7kt REE HE | HE
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 #I4A - Body JE$% 18- Extruded aluminium PRS- Hard anodized 1 1
2 FR 55 - Anti-blowout pinion M - Steel $E55 - Nickel plated 1 1

-3 O-#/8 - O-ring NBR 1 1
c 4 @R - Spacer ring POM 1 1
-5 O-#8 - O-ring NBR 1 1
-6 |OJ/B - O-ring NBR ] ]
7 M5 - Cam TN - Stainless steel 1 1
8 M§CEA- Spacer POM 1 1
-9 fRESIR-Spacer POM 1 1
10 |#@ - Washer T4 - Stainless steel 1 1
=11 +|IR - Snap ring M - Steel §E4% - Nickel plated 1 1
12 |i&ZE - Piston [£6588 - Die cast aluminium 2 ?
- 13 |O-## - O-ring NBR 2 2
« 14 [HUER - Antifriction ring POM 2 2
- 15 [EEHEAE- Thrust block POM 201 | 274
16 |fAEIEBZMIZE - Stop bolt retaining nut FERM - Stainless steel 2 2
17 | RERZEER- Stop bolt R - Stainless steel 2 2
18 |HMERRAES - External spring iR - Steel [ - Painted 0 %ggaq
=19 |hE)#E - Central spring M - Steel % - Painted 0 See sping
20 |REFHES - Internal spring ¥ - Steel &% - Painted 0 TSQEQ%Z‘
21 |ZinEs - Left end cap [E548 - Die cast aluminium &4 - Painted 1 1
22 |AiRE - Right end cap [&$540 - Die cast aluminium IEi% - Painted 1 1
23 |immEYE - End cap seats NBR 2 2
24 |O-#E - O-ring NBR 2 2
25 E[E242 - End cap fixing screw TN - Stainless steel 8 8
26 {\TEIERES - Position indicator MIBYE ~ TPE Thermoplastic rubber TPE 1 1

* SREH - Parts subject to wear

** gERZS) DIN 471 - UNI 7436 - Reinforced series DIN 471 - UNI 7436

[4] HBR. 140-160-180~-200-230 - Valid for mod. 140-160-180-200-230 only.
¢ LR, 160-180- 200 - Only for mod. 160-180-200.

valsia




B2RFUITRAD
ACTUATOR PARTS SERIES 82

M270RF3305
MOD. 270 - 330

Fs. 2R gy FRMERNE =] H=
ITEM DESCRIPTION MATERIAL TREATMENT DA SR

1 1A - Body JE458 - Extruded aluminium BRI~ Hard anodized 1 1

2 FhER 5 - Anti-blowout pinion M - Steel #2558 - Nickel plated 1 1
-3 |o-F@-0-ring NBR ] ]
-4 |O-#E - O-ring NBR 1 1
-5 JEELA - Antifriction ring P.T.F.E 15%fA%£E- P.T.F.E 15% graphite 1 1
© 6 [#UE- Antifriction ring PTFE 1 1

7 EEWR - Plate mod.270 GGGA40 - mod.330 C45 F6% - Painted 1 1

8 5~ Washer TR - Stainless steel 4 4

9 foEERUZI£12 - Stop bolt retaining nut A5 - Stainless steel 2 2

10 |fEEE2 - Stop crew TEEHH - Steel %~ Zinc plated 2 )

1 |BEEEiE- Fixing screws TR - Stainless steel 4 4

12 |J&ZE- Piston [E8510 - Die cast aluminium 2 ?

EF P
13 |[E4EsHE - Precompressed spring 4 - Steel % - Painted 0 See spring

isetting at pace 23|

14 |isEEEEE - End cap fixing screw TR - Stainless steel ;Zj 2;2 12 ;22 ;;g :2
15 %5 - End cap [Ei%8 - Die cast aluminium B4 - Painted 2 2

16 EEKESM - Thrust block POM gzggg : 223;;2 :
* 17 |BBETF - Spacerring POM 1 1
18 |5%HE - Pinion washer T - Stainless steel 1 1
19 |E#F - Snapring X - Steel 555 - Nickel plated 1 1
- 20 |O-J¥Rl - O-ring NBR 2 2
- 21 BREELR - Antifriction ring P.TFE15%EE-P.T.F.E15% graphite 2 2
22 |o-wm - 0-ring NBR 2 2

mod. 270 4 | mod. 270 4

23 iz O—ring NBR mod. 330 2 | mod. 330 2
24 |BBetHSERE - Anti blowout key POM 2 2
25 | fEIEReE - Position indicator #BM - TPE Thermoplastic rubber TPE 1 1

© ZIREME — Parts subject to wear

BV INl={[D]

12




BARTIAITERERE
ACTUATOR PARTS SERIES 84

M 52 BF] 1003
MOD. FROM 52 TO 100

7S, AR Lo REWTE HE H=
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 #I4K - Body T45HR - Stainless steel 1 1
2 | BBHES - Anti-blowout pinion AR - Stainless steel 1 1
- 3 |O-F& - O-ring NBR 1 1
- 4 |IR&R - Spacerring POM 1 1
-5 |0 - O-ring NBR 1 1
-6 |O-#B-O-ring NBR 1 1
7 e - Cam NN - Stainless steel 1 1
8 NG - Spacer POM 1 1
- 9  |IREIL - Spacer POM 1 1
10 | #8& - Washer RN - Stainless steel 1 1
11 | R} - Snapring IR - Stainless steel 1 1
12 |}&% - Piston [E%t8 - Die cast aluminium fEMR &4~ Hard anodized 2 2
<13~ [0-74@ - O-ring IUBR 2 2
- 14 | B - Antifriction ring POM 2 2
<15 |FEREEDH - Thrust block POM 2 2
16 | MEREEIZLIER) - Stop bolt retaining nut TER - Stainless steel 2 2
17 |faEiFgge - Stop bolt T - Stainless steel 2 2
18 | 4MEBAES - External spring i - steel gj;vtvjﬁ ci)g?igge(gggge)rizing) 0 e ——
See spring
B (bonderzing ) - seting a page 23
19 | EBsHEE - Internal spring i - steel Powder coating (bonderizing) 0
20 |Aimm - Leftend cap RN - Stainless steel 1 1
21 | Eiis - Right end cap NN - Stainless steel 1 1
22 |ifEESEIEE - End cap seats NBR 2 2
23 | iEBEIEE - End cap seats NBR 2 2
24 | igEEERE - End cap fixing screw T451¥ - Stainless steel 8 8
05 |{uEismaE- Position indicator ?ffr‘fmg;'fsﬁc I 1 1

« ZIREHE - Parts subject to wear

14_ ValBia




8275 RY Mb2E! % 230%
DIMENSIONS FROM MOD. 52 TO 230 SERIES 82

FERDRREMINRITER (N140RF|230F)
B, ATLUEFAM 121252 B IR

To lift the actuator (mod.140-230), without valve use the eye
bolts M12.

n° 4-8 holes M5

* IRREKATIR 04 A, WA R % A B
* FO4 upon request CCW rotation CW rotation
AR
MOD.| DRILNG |CH| A | B |C|D| E |F| G |H|@Q@K L |M|N|O/PlQ| R S lsom| Y |9V
1SO 5211

52 FO3-FO5 “| 11 | 141 | 71 | 30 | 41 | 815 | 20 |101,5| 10|21 | 12| 80 | 30 | 12 |26,5/ 50 | 36 | M5X7,5 | M6X9 | 1/8" |34,5| 22

63 FO5-F07"* | 14 | 164 |80,5(355| 45 | 93 | 20 | 113 |11 |25|15| 80 | 30 | 16 |27,5| 70 | 50 | M6X8 | M8X12 | 1/8" |34,5| 22

75 FO5-F07 | 17 | 210 |94,5| 42 |525| 111,1 | 20 | 131 | 13|29 |19 | 80 | 30 | 19 | 35|70 | 50 | MEX8 | M8Xx12 | 1/8" | 42 | 29

85 FO5-F07 | 17 |240,5| 106 |47,5/585| 125 | 20 | 145 | 15|35 |22 | 80 | 30 | 19 | 42|70 | 50 | M6X8 | M8Xx12 | 1/8" | 42 | 29

100 | FO7-F10 | 17 | 275|123 | 55 | 68 | 137,8| 20 | 1578 | 15|35 |22 | 80 | 30 |20,5| 50 |102| 70 | M8X8 | M10X14| 1/4" | 42 | 29

115 | FO7-F10 | 22 | 333 | 137 | 64 | 73 | 162,4| 30 | 1924 | 22 | 49 | 32 |80/130| 30 | 24 | 50 |102]| 70 | M8X12 | M10X15| 1/4" | 64 | 44

125 | FO7-F10 | 22 | 372 | 148 | 68 | 80 | 1744 | 30 | 204,4 | 22 | 49 | 32 |80/130) 30 | 24 | 61 |102| 70 | M8X12 | M10OX15| 1/4" | 64 | 44

140 | F10-F12 | 27 | 435|164 |76,5|875| 197 | 30 | 227 | 24 | 49 | 35 |80/130| 30 | 29 | 71 |125| 102 | M10X15 | M12X18 | 1/4" | 64 | 44

160 | F10-F12 | 27 | 500 | 186 | 87 | 99 | 221 | 30 | 251 | 30| 57 | 40 |80/130) 30 | 32 | 80 |125| 102 | M10X14 | M12X17 | 1/4" |80,5| 60

180 | F10-F14 | 36 | 493 | 213 | 98 | 115 | 253 | 30 | 283 | 36 | 62 | 45 |80/130| 30 | 43 | 99 | 140| 102 | M10X15 | M16X25 | 1/4" |80,5| 60

200 F14 36 |5785/ 217 | 108 | 109 | 278 | 30 | 308 | 36 | 67 | 50 |80/130| 30 | 37 | 78 |140| / / M16X24 | 1/4" | 80,5| 60

£

230 F16 46 | 690 |2485( 124 |124,5| 325 | 30 | 355 | 36 | 67 | 50 |80/130| 30 | 50 | 92 [165| / / M20X29 | 1/4" |80,8| 60

QB 45° J5fZ&# - Only square connection at 45°

16_ ValiBila




82%&5] R M 270-330 8

DIMENSIONS MOD. 270-330 SERIES 82

FERDARRRMINSHPUTRE 2708
Ft, ATLUEFIM 16424 R ER

To lift the actuator without valve use the eye bolts
M14 (mod.270) and M16 (mod.330)

MOD.270

n° 67l M5
n° 6 holes M5

n°4 7, M6
n°4 holes M6

n° 4/8 7, M5
n° 4/8 holes M5

RS iEayidige]
CCW rotation CW rotation
A& T
MOD, DRILLNG [CH| A |B|C|D|E|F G|H|@IOKL|L2|M|N|P|Q| R S |eam| U |V |W|Z|X oY
1SO 5211
270 F16 46,,1672|290|145|145|399| 30 [429|36 |70 |50 |130| 80 | 30 | 50 | / |165| M20X30 / 1/4" | 111 | 79 | 230 | 68 |80,5 60
330 F16-F25 55,,1881(402|201|201|505| 50 |555|36 {109/ 50 |130| / |30 | 62 |254|165| M20X30 | M16X26 | 1/2" | 129 | 135|297 | 95 |80,5| 60
** 1f5 45° 2% - Only square connection at 45°

YalBia




83RFIHIMAATEER T
DOUBLE ACTING ACTUATOR DIMENSIONS SERIES 83

P FERDRREMINNITER (N1408F]2308)
B, RTLUERM 128242 B

To lift the actuator (mod.140-230), without valve use the eye

bolts M12.

n° 4-8 7, M5
n° 4-8 holes M5

& WA B [litpgay i
CCW rotation CW rotation
2
MOD., DRILLNG |CH| A | B|[C | D B B G |H|@I|@KI L M| N|O|P|Q R S T| U |eV
1SO 5211 1807/

52 F03-F05 11 (197 | 71 | 30| 41 | 815 | 20 |1015|10|21|12| 80 | 30 | 12 |26,5| 50 | 36 | M5X7,5 | M6X9 | 1/8" | 17 | 22

63 FO5-F07 | 14 | 233 |80.5(35.5| 45 | 93 20 113 |11/ 25| 15| 80 | 30 | 16 |27.5| 70 | 50 M6eXs | Mex12 | 1/8" | 17 | 22

75 FO5-F07 | 17 | 298 |94.5| 42 |525| 111 20 131 (13129 /19| 80 | 30 | 19 | 35 | 70 | 50 M6X8 | M8xi12 | 1/8" | 21 | 29

85 FO5-F07 | 17 | 341 | 106 |47.5/58.5| 125 20 145 |15135|22| 80 | 30 | 19 | 42 | 70 | 50 M6X8 | M8x12 | 1/8" | 21 | 29

100 | FO7-F10 | 17 | 388|123 |55 | 68 | 1378 | 20 |157,8|15|35|22| 80 | 30 |20.5| 50 | 102 | 70 M8X8 | M10X14| 1/4" | 21 | 29

115 | FO7-F10 | 22 | 477 (137 |64 | 73 | 1624 | 30 | 1924 22| 49 | 32 |80/130| 30 | 24 | 50 | 102 | 70 | M8X12 |M10X15| 1/4" | 32 | 44

125 | FO7-F10 | 22 | 537 [148| 68 | 80 | 1744 | 30 |204,4|22| 49 | 32 |80/130| 30 | 24 | 61 | 102 | 70 | M8X12 |M10X15| 1/4" | 32 | 44

140 | F10-F12 | 27 | 610 | 164 |76.5/87.5| 197 30 227 | 24| 49| 35 (80130 30 | 29 | 71 | 125 | 102 | M10X15 |M12X18| 1/4"| 32 | 44

160 | F10-F12 | 27 | 644 |186| 87 | 99 | 221 30 251 | 30| 57 | 40 (80/130| 30 | 32 | 80 | 125 | 102 | M10X14 |M12X17 | 1/4"| 40 | 60

JBEEIZ A R T RIENER B A - The dimension of the adjustment screws change according to the angle of rotation needed.

18_ ValiBila




BAFRFURITEMIMITRRT
STAINLESS STEEL ACTUATOR DIMENSIONS SERIES 84

]
n° 4-8 ¥, M5
n° 4-8 holes M5
- puilingayrasast| Iikay gt
A CCW rotation B CW rotation
HAE T
MOD.| DRLLNG [CH|/ A/ B|C | D|E|F |G| H|Q|@GK L | M|N|O|P|Q| R S |eom| U |9V
1SO 5211

52 F03-F05 11 [141| 71 | 30 | 41 |855| 20 (1055 10 | 21 | 12 | 80 | 30 | 12 |26,5| 50 | 36 | M5X7,5 | M6X9 | 1/8" | 34,5 22

63 F05-F07 14 | 164 |805|355| 45 | 97 | 20 | 117 | 11 | 25 | 15 | 80 | 30 | 16 [27,5| 70 | 50 | MéX8 | M&X12 | 1/8" |34,5| 22

75 F05-F07 17 | 210 |94,5| 42 |525|1151) 20 [1351| 13 | 29 | 19 | 80 | 30 | 19 | 35 | 70 | 50 | M6X8 | M8X12 | 1/8" | 42 | 29

85 F05-F07 17 |240,5( 106 |47,5(585|129 | 20 | 149 | 15 | 35 | 22 | 80 | 30 | 19 | 42 | 70 | 50 | M6X8 | M8x12 | 1/8" | 42 | 29

100 F07-F10 17 | 275|123 | 55 | 68 |143,8| 20 |163,8) 15 | 35 | 22 | 80 | 30 |20,5|52,5| 102 | 70 | M8X9 |M10X14| 1/4" | 42 | 29

YalBia




WahiiTas
DOUBLE ACTING ACTUATOR

HLE
Top view

|

KIANE FHuE KANE
° Closed position Open position Closed position
wls
e
| .
—
N o 00
50 450 GRS EHHESE A 85°  95°  85° R £ BEd 450 5° e
Counterclockwise rotation Clockwise rotation Rotation

Bl nEERTR, Wahi eI s Fe RIRISIE R

BFALSELFER, REZREETRNES.

18I IR KIE .

2 REREHEAE AREHTR, BEIEN25-60%M%2HE,

SAMERIHER, SEMER (IBMNASEES ) KE—MERNE ELBEE (R
EFEIIHE)

4 BEWHE R BB AR AT RS

ﬁ With reference to the above diagram it can be noted that the torque of a double acting

actuator remains constant through-out the complete operation.

The user can decide on which model to choose according to the specific requirements,
using the following guidelines:

1. define the maximum torque of the valve to automate;

2. to obtain a safety factor increase the torque value chosen by 25-50% (subject to the
type of valve and working conditions);

3. once the torque value suggested is obtained consult the torque chart (in relation to
the corresponding air pressure) to find a torque value exact or similar to (but not lower
than) the one obtained;

4. once the torque value is determined move horizontally to the column “model” to find
the suitable actuator model.

BEhiTER
SPRING RETEURN ACTUATOR

HHLE
Top view

MAD FHUE kX iz
Open position Closed position
BIE B MMD
E L Closed position —
[ o | ; EJES [ o | o,
Lol RERTSTIEES B e IR SR Lol e
Counterclockwise rotation Clockwise rotation Rotation

Bl LR, ST S EE PP R RIS ERENTRR . X2 T RN

F, S SYRE TR R R, XIS TR eE), EREERNEER
&, SPTIEROERN, BERRERUIEDN T .

I TRAEAE AL PN E R ERE:
TEsE R

MAD=8¢ 8RR AR T BB
MAC=S 3 EFE M Y T=HAE

HEAEXH

MMC=S8 # 4% ARRT A T2 RAE
MMD=58 8R4 FA7aRT 11T 38030
FBPREA MEr s R e TR e S

1R HRAIRE .

2IRIRAESEN A AR TR, HEIEMN25-50%MZ e,
SEERINHES, SERER EBYNNSRE) %8 —MERNE ETEEE
(TBEETRITEE ) , HE—IMMDSMACZ E(ERIE .

4. FENBIEE BB R T RIS .

ﬁ With reference to the above diagram the torque of a spring return actuator is

not constant but decreasing. This is due to the action of the springs that when
compressed during air actuation counteract the piston movement and
accumulate energy which will be available in a decreasing way during the
rotation inversion. The torque given by the actuator is defined by four
fundamental values.

Opening rotation
MAD = Actuator torque with unfolded springs
MAC = Actuator torque with compressed springs.

Closing rotation
MMC = Torque with compressed springs.
MMD = Torque with unfolded springs
The user can decide on which model to choose according to the specific
requirements, using the following guidelines:
1. define the maximum torque of the valve to automate;
2. to obtain a safety factor increase the torque value chosen by 25-50% (subject
to the type of valve and working conditions);
3. once the torque value suggested is obtained consult the torque chart (in
relation to the corresponding air pressure) to find a torque value exact or similar
to (but not lower than) the one obtained, taking account of the lower value
between the MMD and MAC values;
4. once the torque value is determined move horizontally to the column “model”
to find the actuator model required.

BV INl={[D]

20




AR
TECHNICAL DATA

FIERNIEN(RY) - WORKING TIME (SEC)
R
s MODEL 32| 52 | 63 | 75 | 85 | 100|115 | 125|140 | 160 | 180 | 200 | 230 | 270 | 330
TYPE
WATEHiEEE(DA)
COUNTERGLOCKWISE ROTATION (o) | CCW| 0-03/0,07|0,11/0,18/0,36/0,38 0,60|0,80 1,13/ 1,43|1,99 3,08 4,15/ 6,16 5,50
_ @ 3| It (DA)
53 7 | cLockwISE ROTATION (D) CW |0.03/0,05/0,10|0,15|0,25|0,34|0,54|0,70|0,94 | 1,25|1,80| 2,41|3,80| 5,47/ 5,50
< o
[ee] .
&SR | wttiEitA(SR)
& & | COUNTERGLOGKWISE ROTATION (57 CCW 0,07/0,13/0,32/0,32|0,54|0,92|1,20| 1,64 2,27 3,08/ 3,58|6,20|8,97 | 6,40
IR e B (SR)
CLOGKWISE ROTATION (SF) CW 0,07/0,13/0,22/0,30|0,48|0,75|0,94|1,25|1,60|2,38|2,80|5,40 6,62 7,40
o 3|z (DA)
% 4 " | COUNTERGLOGKWISE ROTATION (DA CCW 0,08|0,14|0,34 0,42/ 0,64|1,11|1,87|2,95|3,03
=§as
2 X | Mnpttiessa(DA)
e 5 | cLocKwisE ROTATION (04 CW 0,06/0,12/0,25/0,39/0,62|1,08|1,13|2,03|2,29
L _F 2 FEI T AP i A 321 ) LS 6bar IRHIIER Y — Approximative times obtained at the pressure of 6 bar without valve.
82-83%x%I&E= (KG) - WEIGHT CHART (KG) SERIES 82-83
RY
S MODEL 32 | 52 | 63| 75 | 8 | 100 | 15 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TYPE
DA 90° 049 | 112 | 1,66 | 2,78 | 3,90 | 5,50 | 8,85 10,80 16,30 | 21,75 | 29,00 | 37,00 58,50| 82,67 | 168
SR 90° - 1130197339 480 7,00 |11,45|14,08|21,80|29,50|39,90|55,00|71,00| 100,27 | 209
DA 180° - 11,70 | 250 | 4,20 | 5,98 | 8,53 |13,65|17,35|25,00 31,20 - -] - - -
SARVAFENTARES (KG)- STAINLESS STEEL ACTUATOR WEIGHT CHART (KG) SERIES 84
Ry
sem MODEL 52 63 75 85 100
TYPE
DA 90° 226 313 4,96 75 10,2
SR 90° 244 3,44 557 8,35 11,73
#5858 - ACTUATOR AIR CONSUMPTION CHART B
R~
s MODEL 32 | 52| 63| 75 | 85 | 100 | 115 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TYPE
- o |ENHIEER(DASR)
39 (COUNT)ERCLOCKW\SEROTAT\ON CCW|0.04 0101019 |0.36|0.51|0.79|1.29|1.63 | 2.26 | 3.67 |4,63|5.70 [10,68 15,0 | 25,5
@© © | (DA/SR
w N
&= | RS AR (DA)
B 5 |CLOGKWISE ROTATION on CW |0.03]01310.23]0.44|0.64|1.00|1.71 | 2.21|3.16 | 5,02 | 6,60 [10,55[15,05| 17.8 | 44,2
o [FEHIEERDA)
g 2 |COUNTERCLOCKWISE ROTATION  |CCW| - |0.47]0.33|0.60]0.90|1.37|2.13]290(4.90|540| - | - | - | - | -
wdS (DA
o N
m = | et (DA) B I
% 5 | CLOCKWISE ROTATION (DA) cw 0.16|0.2910.56|0.83|1.32 | 2.25|3.00|3.90| 6,32

WTHRESDHNESEIAT AR, Sl IR UL LR h AT E AR OFRFE R KRR -
To obtain the air consumption in NI/min multiply the value in the chart for the correct parameters. That is to say for the supplied absolute pressure and the number of strokes in a minute.

valsia




3
TORQUE OUTPUT

WEHFTE HA5E “DA” - TORQUE OUTPUT DOUBLE ACTING ACTUATOR “DA” (Nm)

SRS (bar) - AIR SUPPLY PRESSURE (bar)
TYPE 2,0 3 4 5 5,5 6 7 8
W72 (Nm) - TORQUE OUTPUT DOUBLE ACTING ACTUATOR (Nm)
DA 32 35 472 6 75 8 9 10 11,5
DA B2 9 " 145 18,5 20 22 26 30
DA B3 15,5 19 26 33 36 39,5 46,5 53,5
DA 75 29 35 475 60 66 72 84,5 97
DA 85 M5 50,5 68,5 87 9% 105 123 14
DA 100 66 80 108 136 150 164,5 193 221
DA 115 109 132 179 226 249 272 319 366
DA 125 143,5 174 235 297 327 358 419 481
DA 140 205 246 328 410 451 493 575 657
DA 160 287 344 458 573 630 688 802 917
DA 180 395 474 632 789 868 947 1105 1263
DA 200 532 638 851 1063 1170 1276 1489 1701
DA 230 879 1055 1406 1758 1934 2109 2461 2812
DA 270 1292 1550 2067 2584 2842 3101 3617 4134
DA 330 2299 2759 3679 4599 5059 5519 6438 7358

BzhfTeeisEER “SR - SPRING SETS FOR SPRING RETURN ACTUATOR “SR”

ATHM MOD. 62 §I MOD. 140
VALID FROM MOD. 52 TO MOD. 140

AT MOD. 160 %) MOD. 200
VALID FROM MOD. 160 TO MOD. 200

B M MOD. 230 % MOD. 330
VALID FROM MOD. 230 TO MOD. 330

G5\
SPRING SETS

SPEEE
SPRING SETS

SREEA
SPRING SETS

#xAE - STANDARD SET 05

SET EXTE;ETF?PRING maﬂé{gﬁ@s%we
01 1 1
02 2 -
03 1 2
04 2 1
05 2 2

fxifE - STANDARD SET 06

SET ShER3EEEE chia)E PURREEE
EXTERNAL SPRIIG | CENTRAL SPRILG | INTERNAL SPRING

01 - 2

02 2 -

03 1 2

04 2 - 2

05 2 2 -

06 2 2

22

BV INl={[D]

TGk

PRETENSIONED SPRING
- N SR

N OF SPRINGS FOR EACH SIDE
01 2/3 gl o
02 3/3 N &
03 3/4 812
04 4/4 =5
05 4/5 a
06 5/5 e
07 5/6
08 6/6




BEIITESHLE
TORQUE OUTPUT SPRING RETURN ACTUATORS

16 SiEI{EEA(bar) (bar) - AIR SUPPLY PRESSURE (bar)
EHEE (Nm
MR (Wm) 5 5 s | 4 | s | s5 | e | 7 | s
MOD SET | T0ROUE (N ——
QUE (Nm) BEHTEZAIE(NM) - TORQUE OUTPUT SPRING RETURN ACTUATORS (Nm)
0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90°
MMD | MMC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC
01 36 4.9 45 16 64 | 35 | 102 | 74
02 48 6.7 5.2 17 | 90 56 | 128 | 94
SR52 03 5.2 75 8.6 438 124 | 86 143 | 105 | 162 | 124
04 6.5 9.3 7.3 30 | 112 | 68 [ 131 | 87 | 150 | 106 | 188 | 145
05 81 | 119 95 43 | 14 | 62 | 133 | 81 | 1714 | 119 | 209 | 157
01 5.0 9.6 86 26 | 120 | 60 | 189 | 128
02 66 | 123 105 | 32 | 174 | 101 | 242 | 170
SR63 03 80 | 145 159 | 79 | 228 | 148 | 262 | 182 | 296 | 217
04 96 | 172 144 | 52 | 212 | 120 | 246 | 155 | 281 | 189 | 349 | 258
05 | 125 | 221 182 | 74 | 217 | 106 | 251 | 140 | 319 | 209 | 388 | 277
01 101 | 195 [ 158 | 39 | 220 | 10.1 | 344 | 225
02 | 133 | 256 188 | 40 | 312 | 164 | 435 | 287
SR75 03 | 151 | 282 204 | 138 | 41.8 | 261 | 480 | 323 | 541 | 385
04 | 183 | 343 262 | 7.7 | 386 | 200 | 448 | 262 | 509 | 324 | 633 | 448
05 | 232 | 430 336 | 1.3 | 398 | 175 | 460 | 237 | 583 | 361 | 707 | 48.4
01 161 | 273 | 222 | 76 | 313 | 166 | 495 | 348
02 | 199 | 337 276 | 103 | 457 | 284 | 639 | 466
SR85 03 243 | 408 413 | 213 | 594 | 395 | 685 | 486 | 776 | 576
04 | 281 | 471 375 | 150 | 557 | 331 | 648 [ 422 | 738 | 513 | 920 | 69.4
05 | 363 | 60.6 475 | 196 | 566 | 287 | 656 | 37.8 | 838 | 559 | 101.9 | 74.1
01 246 | 446 | 360 | 101 | 502 | 242 [ 784 | 525
02 | 326 | 589 422 | 99 [ 705 | 381 | 987 | 664
SR100 03 | 359 | 637 67.1 | 333 | 954 | 616 | 109.5 | 757 | 1236 | 89.9
04 | 439 [ 780 591 | 190 | 87.4 | 473 | 1015 | 614 | 1157 | 755 | 1439 | 103.8
05 | 552 | 97.2 761 | 281 | 902 | 423 | 1043 | 564 | 1326 | 847 | 160.8 | 112.9
01 | 410 | 744 | 613 | 184 | 847 | 41.8 | 131.4 | 885
02 | 507 | 944 749 | 218 | 121.6 | 685 | 1683 | 1152
SR115 03 608 | 108.1 1116 | 54.7 | 1583 | 101.5 | 1816 | 124.8 | 205.0 | 148.2
04 | 706 | 1281 101.8 | 34.8 | 1485 | 815 | 171.9 | 1049 | 1952 | 1282 | 241.9 | 1749
05 | 904 | 161.8 1287 | 47.8 | 152.0 | 711 | 1754 | 945 | 2221 | 141.2 | 268.8 | 187.9
01 | 531 | 991 | 802 | 212 | 1109 | 51.9 | 1722 | 1132
02 | 633 | 1175 1007 | 335 | 1621 | 948 | 2234 | 156.1
SR125 03 | 811 | 1484 1442 | 639 | 2055 | 1252 | 236.2 | 155.9 | 266.8 | 1865
04 | 913 | 166.9 1341 | 455 | 1954 | 1068 | 226.1 | 137.5 | 256.7 | 168.1 | 318.0 | 229.4
05 | 119.2 | 216.2 167.4 | 575 | 1981 | 881 | 2287 | 1188 | 290.1 | 180.1 | 351.4 | 241.4
01 82 152 | 119 36 160 | 77 | 242 | 159
02 92 172 149 56 231 | 138 | 313 | 220
SR140 03 117 | 221 205 86 287 | 168 | 328 | 209 | 369 | 250
04 128 | 240 193 64 | 275 | 146 | 316 | 187 | 358 | 229 | 440 | 311
05 164 | 308 238 72 279 | 114 | 320 | 155 | 402 | 237 | 484 | 319
01 83 131 | 199 | 148 | 256 | 205
02 119 | 188 218 | 145 | 332 | 259
SR160 03 143 | 225 193 | 105 [ 307 | 219 | 422 | 334
04 | 185 | 292 262 | 148 | 377 | 263 | 434 | 320
05 | 202 | 319 358 | 235 | 415 | 292 | 473 | 350
06 268 | 423 346 | 181 | 404 | 239 | 518 | 353 | 633 | 468
01 102 | 168 | 287 | 217 | 366 | 296
02 | 160 | 252 304 | 206 | 462 | 364
SR180 03 | 182 | 294 281 | 162 | 439 | 320 | 596 | 477
04 | 262 | 414 354 | 196 | 511 | 353 | 590 | 432
05 | 262 | 420 511 | 343 | 590 | 422 | 669 | 501
06 | 364 | 582 482 | 254 | 561 | 333 | 719 | 491 | 877 | 649
01 169 | 251 | 353 | 269 | 459 | 375
02 | 237 | 353 381 | 262 | 594 | 475
03 | 288 | 428 330 | 188 | 543 | 401 | 755 | 613
SR200 04 | 338 | 522 483 | 295 | 695 | 507 | 802 | 614
05 | 406 | 604 626 | 425 | 733 | 532 | 839 | 638
06 | 507 | 773 622 | 352 | 728 | 458 | 941 | 671 | 1153 | 883
01 389 | 666 | 466 | 172 | 642 | 348 | 993 | 699
02 | 466 | 799 560 | 206 | 911 | 557
SR230 03 | 544 | 933 828 | 416 | 1180 | 768
04 | 622 | 1066 746 | 274 | 1098 | 626 | 1274 | 802
05 | 700 | 1199 663 | 133 | 1015 | 485 | 1191 | 661 | 1366 | 836
06 | 777 | 1332 933 | 343 | 1109 | 519 | 1284 | 694 | 1636 | 1046 | 1987 | 1397
01 506 | 791 | 780 | 490 | 1044 | 754 | 1572 | 1282
02 607 | 949 | 672 | 324 | 936 | 588 | 1464 | 1116
03 | 708 | 1107 | 564 | 158 | 828 | 422 | 1356 | 950 | 1884 | 1478
SR270 04 | 810 | 1265 721 | 257 | 1249 | 785 | 1777 | 1313 | 2041 | 1577
05 911 | 1423 1141 | 619 | 1669 | 1147 | 1933 | 1411 | 2197 | 1675
06 | 1012 | 1581 1033 | 453 | 1561 | 981 | 1825 | 1245 | 2089 | 1509
07 | 1113 | 1740 925 | 287 | 1453 | 815 | 1717 | 1079 | 1981 | 1343 | 2508 | 1870
08 | 1214 | 1898 817 | 121 | 1345 | 649 | 1609 | 913 | 1873 | 1177 | 2400 | 1704 | 2928 | 2232
01 884 | 1372 | 1361 | 842 | 1821 | 1302 | 2741 | 2222
02 [ 1060 | 1647 | 1173 | 550 | 1633 | 1010 | 2553 | 1930
03 [ 1237 [ 1921 | 985 | 259 | 1445 | 719 | 2365 | 1639 | 3285 | 2559
SR330 04 | 1414 | 2196 1258 | 427 | 2178 | 1347 | 3098 | 2267 | 3558 | 2727
05 | 1591 | 2470 1990 | 1056 | 2910 | 1976 | 3370 | 2436 | 3830 | 2896
06 | 1767 | 2745 1802 | 764 | 2722 | 1684 | 3182 | 2144 | 3642 | 2604
07 | 1944 | 3019 1615 | 473 | 2535 | 1393 | 2995 | 1853 | 3455 | 2313 | 4374 | 3232
08 | 2121 | 3294 2347 | 1101 | 2807 | 1561 | 3267 | 2021 | 4186 | 2940 | 5106 | 3860

valsia




455k F= 55 - SPECIAL VERSION

=im: EASIREAIA150C,
High temperature: to withstand temperatures up to 150°C.

ffim: AT AFET40CHURIFIAER.

Low temperature: for applications that require the use down to -40°C.

303 NFEMESR.
With 303 stainless steel pinion.

R BRI N R TIOER, IRESTRIRE, RS ZRIAE T I(F.
B SR T EATNE R T AR B X LB EANE S5 A0 .

Nickel plated: process developed for the actuator protection in harsh environments through the application of

an uniform coating over the entire surface, in order to give the actuator a higher protection against corrosion.

Suitable also in the pharmaceutical and food industries and in all those sectors where alkaline solutions and
cleaning agents are used.

PTFERER: BEXHUTRRENEmUTEGRPTRE ML, FRBREWRE, ERITRr LT RR R agE A gLl
MmN [FF R 2 AR T .

With PTFE coating: coating applied by spray technique over the entire actuator surface and cured in the oven.
It provides excellent corrosion protection to marine environments, environments with high temperatures and
ensures great antistick properties; it is also used in a wide range of industrial applications.




ST
PNEUMATIC ACTUATORS

82&RFISENNTTEE— SERIES 82 PNEUMATIC ACTUATORS

WENS 51788 - DOUBLE ACTING PNEUMATIC ACTUATOR “DA”
MODELLO - MODEL ~ DA32 DA52 DAG3

DA 75 DA85 DA100 DA115 DA125 DA140 DA160
CODICE - CODE

DA 180 DA200 DA230 DA270 DAS30
82DA0007 82DA0010 82DA0012 82DA0075 82DA0014 82DA0018 82DA0070 82DA0019 82DA0020 82DA0079 82DA0080 82DA0021 82DA0023 82DA0077 82DA0033

BEISEN{TEE - SPRING RETURN PNEUMATIC ACTUATOR “SR”

MODELLO - MODEL SR52 SR63

SR75 SR8 SR100 SR115 SR125 SR140 SR 160
CODICE - CODE

SR180 SR200 SR230 SR270 SR330
82SR0010 82SR0012 82SR0075 82SR0014 82SR0018 82SR0070 82SR0019 82SR0020 82SR0079 82SR0080 82SR0021 82SR0023 82SR0077 82SR0033

83ZKFISHENHITEE 0-180° - SERIES 83 PNEUMATIC ACTUATORS

VERSIONE ROTAZIONE 0° - 180° - VERSION 0° - 180°
MODELLO - MODEL

DA B2 DA 63 DA75 DA 85 DA 100 DA 115
CODICE - CODE

DA 125 DA 140 DA 160
83DA0010 83DA0012 83DA0075 83DA0014 83DA0018 83DA0070 83DA0019 83DA0020 83DA0079

SARFIAEENSTINITEE - STAINLESS STEEL A351CF8M PNEUMATIC ACTUATORS

WENSEIHITEE - DOUBLE ACTING PNEUMATIC ACTUATOR “DA”
MODELLO - MODEL DA 52
CODICE - CODE

DAB3 DA75 DA85 DA100
84DA0010 84DA0012 84DA0075 84DA0014 84DA0018

BFNSENITEE - SPRING RETURN PNEUMATIC ACTUATOR “SR”

MODELLO - MODEL SR52 SR63
CODICE - CODE

SR75 SR85 SR 100
84SR0010 84SR0012 84SR0075 84SR0014 84SR0018

B vawsia




ATTUATORI PNEUMATICI
PNEUMATIC ACTUATORS

iEi8i1788 = NICKEL PLATED ACTUATOR

ATTUATORE NICHELATO -NICKEL PLATED ACTUATOR *

MODELLO - MODEL 32 52 63 75 85 100 115 125 140 160 180 200 230 270 330

CODICE - CODE DA 82DA1007 82DA1010 82DA1012 82DA1075 82DA1014 82DA1018 82DA1070 82DA1019 82DA1020 82DA1079 82DA1080 82DA1021 82DA1023 82DA1077 82DA1033

CODICE - CODE SR - 82SR1010 82SR1012 82SR1075 82SR1014 82SR1018 82SR1070 82SR1019 82SR1020 82SR1079 82SR1080 82SR1021 82SR1023 82SR1077 82SR1033

“ Il trattamento comprende tappi e cilindro. Per ulteriori varianti consultare |'ufficio commerciale - The treatment includes caps and cylinder. For any other execution please contact our sales department.

PTFE i#Z#h1788 =P.T.F.E COATED ACTUATOR

ATTUATORE VERNICIATO P.T.F.E -P.T.FE COATED ACTUATOR *

MODELLO - MODEL 32 52 63 75 85 100 115 125 140 160 180 200 230 270 330

CODICE - CODE DA 82DAB607 82DAB610 82DAB612 82DAB675 82DAB614 82DAB618 82DAB670 82DAB619 82DAB620 82DAB679 82DAB680 82DAB621 82DAB623 82DAB677 82DAB633

CODICE - CODE SR - 82SRB610 82SRB612 82SRB675 82SRB614 82SRB618 82SRB670 82SRB619 82SRB620 82SRB679 82SRB680 82SRB621 82SRB623 82SRB677 82SRB633

“ Il trattamento comprende tappi e cilindro. Per ulteriori varianti consultare 'ufficio commerciale - The treatment includes caps and cylinder. For any other execution please contact our sales department.

=ima 32 52 63 75 85 100 115 125 140 160 180 200 230 270 330
CODICE - CODE DA 82DA0407 82DA0410 82DA0412 82DA0475 82DA0414 82DA0418 82DA0470 82DA0419 82DA0420 82DA0479 82DA0480 82DA0421 82DA0423 82DA0477 82DA0433
CODICE - CODE SR 82SR0410 82SR0412 82SR0475 82SR0414 82SR0418 82SR0470 82SR0419 82SR0420 82SR0479 82SR0480 82SR0421 82SR0423 82SR0477 82SR0433
KRR - 40°C

CODICE - CODE DA - 82DA1210 82DA1212 82DA1275 82DA1214 82DA1218 82DA1270 82DA1219 82DA1220 82DA1279 82DA1280 82DA1221 82DA1223 82DA1277 82DA1233
CODICE - CODE SR - 82SR1210 82SR1212 82SR1275 82SR1214 82SR1218 82SR1270 82SR1219 82SR1220 82SR1279 82SR1280 82SR1221 82SR1223 82SR1277 82SR1233
303 T EEMA 4L

CODICE - CODE DA 82DA0907 82DA0910 82DA0912 82DA0975 82DA0914 82DA0918 82DA0970 82DA0919 82DA0920 82DA0979 82DA0980 82DA0921 82DA0923 82DA0977 82DA0933
CODICE - CODE SR - 82SR0910 82SR0912 82SR0975 82SR0914 82SR0918 82SR0970 82SR0919 82SR0920 82SR0979 82SR0980 82SR0921 82SR0923 82SR0977 82SR0933
150 5211 FO4 R %71,

CODICE - CODE DA - 82DA0610 82DA0612

CODICE - CODE SR - 82SR0610 82SR0612






